BN — Tk (A4F#K)

S 2% 4A%
Pa 3z T3 ZKGE ACE SRS R 8 (WA K)o
PROKEER  9:00
B KERBRAER (PLabih)
AR . . TVHY OB | HEw <~
IO R SR e | ome | opH PO -7 S B Rl - A %
C C & me/L | mg/L | mg/L me /L mg /L me /1,

1] 4 10.4 10.8] 7.78

2| g 12.7)  10.4 9.5| 7.76

3| & 14.4] 10.5 28.1 17.63

4| HE 14.5| 10.6 22.1] 17.61

5| HE 13.2] 12.0 24.6| 17.63

6| HE 11.9] 10.7 21.1] 17.66

7] W 12.4] 10.8 27.2| 1.66

8| M 15.6] 11.0 28.4| 1.60

9| HE 14.8] 11.1 23.8] 17.63

10| W 13.0] 11.4 27.6] 17.53

11 W 11.3]  10.9 21.7] 1.51

12| 2 13.2| 12.4 23.4| 1.67

13| [ 11.4] 10.9 23.9] 7.71

14| W 11.9] 10.8 26.7 17.65

15| I 14.5| 11.0 25.2| 17.66

16| I 17.4] 12.0 18.8| 7.49| 34.0] 40.0 70 4.2 0.10]  <0.02
17) W 15.4| 11.7 17.7| 7.70

18] [ 16.7] 11.9 13.7| 17.68

19| W 15.5| 11.9 12.8] 17.66

20| 12.9] 11.8 13.8] 17.67

21| W 17.8] 11.8 14.7| 7.70

2 £ 13.4] 11.8 14.1| 17.76

23| W 11.2| 11.8 23.2| 17.70

24| W 12.7] 11.8 18.4| 17.61

25| M 13.5| 11.8 18.7| 17.60

26| M 12.2] 12.2 19.3| 17.55

27| 16.1] 12.2 24.5| 17.61

28| M 15.8] 12.2 17.2| 7.64| 28.6| 34.4 72 3.4 0.07|  <0.02
29| M 15.8] 12.3 14.2| 17.51

30| [ 19.5] 12.2 15,41 7.56

¥ 14.2| 11.5 20.0/ 7.64] 31.3] 37.2 71 3.8 0.08| <0.02
R 5 19.5| 12.4 28.4| 7.78] 34.0] 40.0 72 4.2 0.10]  <0.02
K 11.2] 10.4 9.5/ 7.49] 28.6| 34.4 70 3.4 0.07] <0.02




K — 1K1 (A4H#%)

SR 2% AR

P T2 KO B BURE R  t 3 (IAE k)

BLKERR] 9:00

HoK KERBRER (ki)
B | RfE | &R ‘ . gzl O | HEiw <
KR | WA H A ) £ . =z
e g S| | A i i
C C & me/L | mg/L mg/L mg/L mg/L me/L
1| & 11.8 0.9 7.21
2| W 12.7] 12.0 0.5 7.22
3| IE 14.4] 12.0 0.7 7.19
4] W 14.5[ 12.0 0.6/ 7.04
5| E 13.2[ 12.8 0.7 7.05
6| M 11.9[ 12.4 0.9/ 7.08
70 g 12.4] 12.3 0.7] 7.15
8| M 15.6] 12.6 0.7] 7.13
9] M 14.8] 12.9 0.9] 7.11
10| I 13.0] 12.9 0.9/ 7.17
11 I 11.3] 12.7 0.8/ 17.05
12| = 13.2] 12.8 0.7, 17.12
13| 11.4] 12.7 0.9/ 7.08
14| I 11.9] 12.4 0.6/ 7.16
15| I 14.5| 12.6 0.5| 7.14
16| I 17.4] 12.9 1.0 7.06] 29.2| 39.4 60 7.2 0.05| <0.02
17| I 15.4] 13.1 1.4 7.16
18| i 16.7] 13.7 0.9/ 7.06
19] I 15.5| 13.5 0.1 7.17
20| 1§ 12.9] 13.7 0.2 17.09
21| I 17.8| 13.7 0.5 7.10
22| = 13.4] 13.6 1.0] 7.05
23| I 11.2] 13.4 0.9] 7.04
24| I 12.7] 13.3 0.5 6.93
25| I 13.5] 13.4 1.1 6.86
26| I 12.2] 13.5 0.6/ 6.90
27| I 16.1] 14.0 1.0] 7.00
28| I 15.8] 14.2 0.2 7.01] 24.9] 34.5 86 6.8/ <0.03] <0.02
29| I 15.8] 14.3 0.4 6.92
30| [ 19.5] 14.4 0.8/ 6.96
) 14.2] 13.1 0.7] 7.07 27.1/ 37.0 73 7.0 0.04] <0.02
5 19.5| 14.4 1.4 7.22] 29.2| 39.4 86 7.2 0.05| <0.02
AKX 11.2] 11.8 0.1/ 6.86] 24.9/ 34.5 60 6.8/  <0.03] <0.02




